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Question Number : 1 Question Id : 26723611061 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



A forward biased silicon diode has a voltage drop VD1 (measured at anode
with respect to cathode) when carrying a current |1 at a temperature T1. Now
the temperature is increased to T2 and the same current [1 is passed through
the diode. The measured voltage drop is found to be VD2. Then,

(A) VD2>VD1

(B) VD2<vD1

(C) VD2=VD1

(D) VvD2T2=VD1T1
Options :

1. A

2. % B

3.% C

4. % D

Question Number : 1 Question Id : 26723611061 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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() VD2>VD1
(@ VD2<VD1
(MM vD2=VD1

(U VvD2T2=VD1T1
Options :

1.4 A

2. # B

3.%C

4. % D

Question Number : 2 Question Id : 26723611062 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is false for a Push-Pull Class-B amplifier

(A) Efficiency of the amplifier is independent of signal amplitude
(B) Its efficiency is higher when compared to class-A amplifier
(C) It introduces cross over distortion

(D) The power amplification is due to current amplification
Options :

1.+ A



2. % B
3.% C

4. % D

Question Number : 2 Question Id : 26723611062 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A

2.%B

3.%C

4. % D

Question Number : 3 Question Id : 26723611063 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is false for a BJT
(A) Emitter is heavily doped
(B) Base is made narrower to increase the current gain
(C) Collector-Base junction is forward biased when operated in saturation region

(D) BJT can be viewed as a voltage controlled voltage source for small signal

behaviour
Options :

1.¥A
2. % B
3.% C

4. % D

Question Number : 3 Question Id : 26723611063 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ A



2. % B
3.% C

4. % D

Question Number : 4 Question Id : 26723611064 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is true for Common-Base amplifier built using a given
BJT

(A) Small signal inputimpedance is greater than that of CE amplifier

(B) Small signal output impedance is smaller than that of CE amplifier

(C) Small signal input impedance is is greater than that of CC amplifier

(D) Small signal output impedance is greater than that of CC amplifier
Options :

1.¥A

2. % B

3.% C

4. % D

Question Number : 4 Question Id : 26723611064 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.4 A
2. % B
3.%C

4. % D

Question Number : 5 Question Id : 26723611065 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



For the BJT shown in the circuit, B=100, Vge = 0.7 V and Vcesat =0.2 V. What is

the I
and Vce of the BJT.
1oV
2.2 k)
¥l
50 kQ b

3.2V Vee

(A) 4545mAand0V
(B) 4.455mAand 0.2V
(C) 5mAand0V

(D) 5mAand 4V
Options :

1.¥A

2. % B

3.% C

4. # D

Question Number : 5 Question Id : 26723611065 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



3)T Gfche T fem@mar 18, p=100, Ve = 0.7 V and Veesat =02 V | Ic 3R
BJT T Ve T8 |
10V

(@) 4545 mA 3ROV
@) 4.455mA 3R 0.2V
@M 5S5mA3ROV

() SmA3RV
Options :

1.4 A

2. # B

3.%C

4. % D

Question Number : 6 Question Id : 26723611066 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



What is the typical DC gain of a pA741 opamp?
(A) 108
(B) 106
(€©) 105

(D) 103
Options :

1. A
2. % B
3.% C

4. %D

Question Number : 6 Question Id : 26723611066 Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
HA741 opamp BT URS(U® DC A T8 ?

(N 105

® 103
Options :

1.¥ A



3.%C

4. % D

Question Number : 7 Question Id : 26723611067 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
A voltage source 4sin(500t) is connected in series with a current source of

3sin(500t + 1/2). This series combination is connected across a 2 Q resistor.
What is the rms value of the voltage across the series combination of two
sources.

(A) 4243V

(B) 3536V

(C) 2.848V

(D) None of these
Options:

1.¥ A

2. % B

3. % C

4. %# D

Question Number : 7 Question Id : 26723611067 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥A
2. % B
3.% C

4. # D

Question Number : 8 Question Id : 26723611068 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
For a typical TTL IC (74xx series), what is the minimum input voltage that is

taken as logic one.
(A) 1V
B) 2V
(C) 25¥

(D) 45V
Options :
1.4 A



3.%C

4. % D

Question Number : 8 Question Id : 26723611068 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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qifore & w9 # forar S &
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@) 2V

@M 2.5V

(M) 45V

Options:
1.9 A
2. % B
3.% C

4. %# D

Question Number : 9 Question Id : 26723611069 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The transfer function of a system evaluated along the jw-axis takes the form

2 2
Hiw)=[1-(ww ) J/[(ww) +(jwQw )+1]. Thesystemsis a
0 0 0

(A) band reject filter
(B) band pass filter
(C) high pass filter

(D) low pass filter
Options :

1.¥A

2. % B

3. % C

4. % D

Question Number : 9 Question Id : 26723611069 Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
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Options:



1.9 A

3.%C

4. % D

Question Number : 10 Question Id : 26723611070 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The circuit shown in the figure is

b

(A) Inverting amplifier

(B) Non-inverting amplifier

(C) Schmitt Trigger

(D) Voltage to current converter
Options:

1.¢ A

2. % B

3. % C

4. # D

Question Number : 10 Question Id : 26723611070 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A

2. % B

3.% C

4. # D

Question Number : 11 Question Id : 26723611071 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



If the capacitor in an RC integrator shorts, the output
(A) would measure the same as the input
(B) is at ground
(C) would measure zero volts

(D) None of the above
Options :

1.¥A

2. % B

3.% C

4. % D

Question Number : 11 Question Id : 26723611071 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A
2. % B

3.% C



4. % D

Question Number : 12 Question Id : 26723611072 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The primary disadvantage of the flash analog-to digital converter (AD is that

(A) itrequires the input voltage to be applied to the inputs simultaneously

(B) alarge number of comparators is required to represent a reasonable sized binary

number

(C) along conversion time is required

(D) alarge number of output lines is required to simultaneously decode the input voltage
Options :

1.¥A

2. % B

3.%C

4. % D

Question Number : 12 Question Id : 26723611072 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ A

2. % B

3. % C

4. % D

Question Number : 13 Question Id : 26723611073 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The unit impulse response of a unity feedback control system is given by

c(ty=~te” +2”, (t20).

The open loop transfer function is equal to

(A)  s+1
(s+2)°

(B) 2s+1
(s +1)°

(C) s+2
(s +1)°

(D) s+l

L
S

Options :
1.4 A
2. # B
3.%C

4. % D

Question Number : 13 Question Id : 26723611073 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 14 Question Id : 26723611074 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Consider the unit step response of a unity feedback control system whose open loop

|
transfer function is G(s) = s(s+1) The maximum overshoot is equal to

(A) 0143
(B) 0.153
(C) 0.163

(D) 0173
Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 14 Question Id : 26723611074 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.4 A
2. % B
3.% C

4. % D

Question Number : 15 Question Id : 26723611075 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

In a repetitive-pulse RC integrator circuit, what would the steady-state voltage
equal at the end of the fifth pulse? Assume a Vin of 20 V.

(A) 20V

(B) 146V

(C) 1462V

(D) ov
Options :
1.9 A

2. % B

3. % C

4. % D

Question Number : 15 Question Id : 26723611075 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A
2. % B
3. % C

4. % D

Question Number : 16 Question Id : 26723611076 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
In a communication system, noise is most likely to affect the signal

(A) atthe transmitter

(B) inthe channel

(C) inthe information source

(D) at the receiver
Options :

1.¥A

2. % B

3.% C



Question Number : 16 Question Id : 26723611076 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥A
2. % B
3.%¥C

4. % D

Question Number : 17 Question Id : 26723611077 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Indicate the false statement. Modulation is used to

(A) reduce the bandwidth requirement
(B) separate differing transmissions
(C) ensure that information is conveyed over long distances

(D) allow use of practical antennas



Options :
1.4 A
2. % B
3.% C

4. % D

Question Number : 17 Question Id : 26723611077 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options:

1.9 A

2. % B

3.%C

4. %D

Question Number : 18 Question Id : 26723611078 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The value of a resistor creating thermal noise is doubled. The noise power
generated is therefore

(A) halved
(B) quadrupled
(C) unchanged

(D) doubled
Options :
1.¥ A

2. % B

3.% C

4. % D

Question Number : 18 Question Id : 26723611078 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options:
1.¥A
2. % B

3.% C



Question Number : 19 Question Id : 26723611079 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
In the spectrum of a frequency modulated wave,

(A) The carrier frequency disappears when the modulation index is large.
(B) The amplitude of any sideband depends upon the modulation index.
(C) The total number of sidebands depends on the modulation index.

(D) The carrier frequency is dependent upon the modulating signal amplitude.
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 19 Question Id : 26723611079 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.4 A
2. % B
3.% C

4. % D

Question Number : 20 Question Id : 26723611080 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
A pre-emphasis circuit provides extra noise immunity by

(A) boosting the bass frequencies

(B) amplifying the higher audio frequencies

(C) pre amplifying the whole audio band

(D) converting phase modulation to FM
Options :

1.9 A

2. * B

3. % C

4. % D

Question Number : 20 Question Id : 26723611080 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A

2.%B

3. % C

4. % D

Question Number : 21 Question Id : 26723611081 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Indicate the circuit that cannot be used to demodulated SSB

(A) Divide balanced modulator
(B) Product detector
(C) Complete phase shift generator

(D) Bipolar transistor balanced modulator
Options :

1.+ A

2. % B

3.% C



4. % D

Question Number : 21 Question Id : 26723611081 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.9 A

2. % B

3. % C

4. % D

Question Number : 22 Question Id : 26723611082 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Indicate the indirect method of generating FM
(A) Armstrong modulator
(B) Reactance FET modulator
(C) Varactor diode modulator

(D) Reactance bipolar transistor modulator
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 22 Question Id : 26723611082 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.4 A

2. % B

3.% C



4. % D

Question Number : 23 Question Id : 26723611083 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
For transmission line — load matching over a wide range of frequencies, the

best choice is

(A) balun

(B) broad band directional coupler

(C) double stub

(D) single stub of adjustable position
Options :

1.9 A

2.% B

3. % C

4. % D

Question Number : 23 Question Id : 26723611083 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A

2.%B

3. % C

4. % D

Question Number : 24 Question Id : 26723611084 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Indicate which of the following frequencies cannot be used for reliable beyond

the horizon terrestrial communications without repeaters.
(A) 12GHz
(B) 1.6 MHz
(C) 3.5MHz

(D) 15MHz
Options:

1.¥A



3.%C

4. % D

Question Number : 24 Question Id : 26723611084 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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(P) 12 GHz
(M) 1.6 MHz
(1) 3.5 MHz

(}) 15 MHz
Options:
1.9 A

2. % B

3.% C

4. %# D

Question Number : 25 Question Id : 26723611085 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The ground wave eventually disappears, as one moves away from the
transmitter because of

(A) interference from the sky wave
(B) loss of line-of-sight condition
(C) maximum single loop distance limitation

(D) ftilting
Options :
1.¥ A

2. % B
3.% C

4. % D

Question Number : 25 Question Id : 26723611085 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ A

2. % B



3.% C

4. %D

Question Number : 26 Question Id : 26723611086 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
A helical antenna is used for satellite tracking because of its

(A) broad bandwidth

(B) good front to back ratio

(C) circular polarization

(D) good maneuverability
Options :

1.¥ A

2. % B

3. % C

4. # D

Question Number : 26 Question Id : 26723611086 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options:

1.¥ A

2. ¥ B

3.% C

4. % D

Question Number : 27 Question Id : 26723611087 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The main difference between operation of transmission lines and waveguides is

(A) the latter are not distributed like transmission lines

(B) transmission lines use the principal mode of propagation and hence do not suffer

from low frequency cut off
(C) the former can use stubs and quarter wave transformers unlike the latter

(D) impedance matching cannot be achieved with transmission lines
Options :
1.¥A

2. % B



3.% C

4. % D

Question Number : 27 Question Id : 26723611087 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options:

1.¥ A

2. % B

3. % C

4. # D

Question Number : 28 Question Id : 26723611088 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Identify the statement which is not a property of the delta function

(A)
(t)-dt=1.0

L e—s
QG

(B) 3(t) is unbounded at t =0
(C) d8(t)=0att=0

() = .
[x(0)- 0 ~1,) = x(1,)
Options :
1. A
2. % B
3. % C

4. % D

Question Number : 28 Question Id : 26723611088 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

3 WHT B UgaH ®x ol secl HavH &I 0 sl o

& Tc‘i(f}-d.-‘ =1.0

=i

(9) :
§(t) is SIS es et = 0

(I a(t)=0att=0

LE

[x()- 5 ~1,) = x(t,)

&0



Options :
1.4 A
2. % B
3.% C

4. % D

Question Number : 29 Question Id : 26723611089 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
At high SNR, coherent QPSK achieves

(A) the same average error probability as coherent BPSK but uses twice the bandwidth

(B) the same average error probability as coherent BFSK but uses twice the bandwidth

(C) the same average error probability as coherent BPSK but uses half the bandwidth

(D) the same average error probability as coherent BFSK but uses half the bandwidth
Options :

1.¥A

2. ¥ B

3. % C

4. % D

Question Number : 29 Question Id : 26723611089 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



3@ SNR H, GUTd QPSK UT &l g

(@) FEd BPSK & ¥ H U g1 3119 Ffe GHIT, dfdh &1 IR dfsfagy &1
I el B

(@) YU BFSK & ¥4 § T 8 3fid Ffe uiai, e <l aR defagy &1
JUAI 1 &

(1) G BPSK & & H Ueh 6 311%el Fe AHTaT], Afeh 31 Ssfagy o
ST el §

(8) G BFSK & &0 # Uah g1 3119d fc FuraH, e 3Mel dsfagy &1
ST Xl B

Options :

1.¥A

2.%B

3. % C

4. % D

Question Number : 30 Question Id : 26723611090 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The autocorrelation function RX (t) of a stationary random process X (t) is

defined as

RX (t)=E [X (t) X (t + t)] where E denotes the expectation operator and t

denoted a time shift. Identify the wrong statement.

(A) Rx(0)=E[X*(t)]

(B) Rx(t) =Rx(-t)

(C) Rx(0)=E [x*(0)]

D) |R, ()< R, (0)
Options :

1.¥ A

2. ¥ B

3. % C

4. % D

Question Number : 30 Question Id : 26723611090 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



0% fRR grRfasd Uil X (1) & 3fieidNae HagH RX (1) & &Y |
ufeHTRd fobar mar &

RX (t) = E [X (t) X (t + t)] 6T E U WY AT Bl STl g AR TTH
T3 e &) et el &1 716 $4H &1 UgaH |

(@) Rx(0) = E DA (1)]
(@) Rx(t) = Rx(-t)
() Rx(0) = E[X*(0)]

® |Ry (1) <R, (0)
Options:

1.¥ A

2. % B

3.% C

4. % D

Question Number : 31 Question Id : 26723611091 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The following impulse response of a system indicates a transfer function with

linear phase

W (1211121

(B) 22111]

© [1234 5]

(D) [43210]
Options :
1.¥A

2. % B

3.% C

4. # D

Question Number : 31 Question Id : 26723611091 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Rreen &t fRgfaRad smam wiafarar Ya® @Ru & 91y U ¢hgwR haw
®1 3fd Fd

@ [1211121]

(G
22111

(M [1234 5]

@ [43210]



Options :
1.4 A
2. % B
3.% C

4. % D

Question Number : 32 Question Id : 26723611092 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Z

. I X(Z) = 5 - =y and x(n) is casual. Its ROC is
(A) lz] <2
(B) |z| >4
(C) lz| <4

(D) 2<|z| <4
Options :
1.¥ A

2. % B

3.% C

4. %D

Question Number : 32 Question Id : 26723611092 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



A X(2) = ——+—— IR x (n) AHHAH &1 TP ROC &

7Z-2 z+4

(P) |z| <2
Q@) |z >4
(M |z] <4

M) 2<]z <4
Options :
1.¥ A

2. % B

3.% C

4. % D

Question Number : 33 Question Id : 26723611093 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

. Let x(n) =0.5"u(n), Then x(n)=x(n) is
(A) n 0.5" u(n)
(B) 0.5*"u(n)

(C) (n+1)0.5"u(n)

(D) n?0.5"u(n)
Options:
1.¥A

2. % B



3.% C

4. %D

Question Number : 33 Question Id : 26723611093 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
A & x(n) = 0.5%u(n), T8 x(n)*x(n) B

(P)
n 0.5" u(n)

(@) 0.5%" u(n)
(M  (n+1) 0.5" u(n)

(@ n?0.5"u(n)
Options :

1.4 A

2.%B

3. % C

4. % D

Question Number : 34 Question Id : 26723611094 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



. Which of the following represents a causal system (where a and B are some
constants)?

(A)  h,(n)=a"u(-n)
®) ]11{11]=si|1[—%tnj

(C)  h,(t) = coswt + sinot

D
) h4(n}={[3”+ﬂﬂs[gﬁﬂﬁ(n}

Options :
1.¥A
2. % B
3.% C

4. # D

Question Number : 34 Question Id : 26723611094 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



fFrafafed O § & 91 te dojerd qome & Rige a1 8 (gl o 3R p
79 RRI® §)?

(D h,(t) = cosat + sinat

) h‘,(n):{[}“rcos(%nﬂﬁ{n)

Options :
1. A
2. % B
3.% C

4. % D

Question Number : 35 Question Id : 26723611095 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



. If the impulse response of a linear time invariant system is 2(n)=[1 2 3 1], then

what will be the output of the system for an input sequence

x(n)=[ d(n)+ 26(n-1)=06(n-2)]?

(A [123-112-1]

B) [146-3-51]

© [-1-2-31]

(D) [242-1]
Options :
1.¥A

2. % B

3.% C

4. # D

Question Number : 35 Question Id : 26723611095 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



e YT A e e S s
TRl h(n)=[1 2 3 ~1] &, T TP TTYC S{TshH o [T RieH T HITYe

R x(n)= §(n)+28(n-1)—5(n-2)] ?
@) [123-112-1]
(@ [146-3-51]
™M [-1-2-31
@ [242-1]
Options :
1.4 A
2. % B
3. % C

4. % D

Question Number : 36 Question Id : 26723611096 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

. The system represented by the impulse response h[n] = 2"cos(nm)u[n] is,

(A) Causal & stable
(B) Non-causal & stable
(C) Causal & unstable

(D) Non-causal & unstable



Options :
1.4 A
2. % B
3.% C

4. % D

Question Number : 36 Question Id : 26723611096 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

33T ufafesar gRT URgd Womett hin] = 2"cos(nm)u[n] ©
(@) DI 3R R’R

@) ATHIUN 3R fRR
@M BT 3R SRR

() 3PN 3R ARR
Options :

1.9 A

2. % B

3. % C

4. % D

Question Number : 37 Question Id : 26723611097 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



dx(t)

. The output of a system for an input x(t) is given by, y (t)——t The system is

(A) Linear

(B) Causal
(C) Time variant

(D) Stable
Options :
1.¥ A

2. % B

3.% C

4. % D

Question Number : 37 Question Id : 26723611097 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Y x (1) & forw Rew 1 sm3eye fogds g1 e Srar @ (}_%
| Rreq @

Options:

1.¥A



3.%C

4. % D

Question Number : 38 Question Id : 26723611098 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

. The zero-frequency component of the Fourier series representation of a 0 to 4volts
square wave signal with 75% duty cycle is,

(A) OV
(B) 1V
(C) 2V

(D) 3V
Options :
1.¥A

2. % B

3. % C

4. % D

Question Number : 38 Question Id : 26723611098 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



75% SYCI TIGhd & F1Y 0 Y dvolts a7 o Fwd o BRAY YR feau
BT Y-S 9¢H 5,

@) 0V
(@ 1v
@M 2V

®) 3V

Options :
1.¥ A
2. % B
3.% C

4. %D
Question Number : 39 Question Id : 26723611099 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

2nn 2nn
. Is the signal x(n)=c05T + CGST periodic? If yes, what is the period?

(A) Periodic with period 35
(B) Periodic with period 2n
(C) Periodic with period 12

(D) Non-periodic
Options:

1.¥ A



3.%C

4. % D

Question Number : 39 Question Id : 26723611099 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Rd x{n]=c052TIm + ms?ﬂ{lﬁ%%? EI'FCI%T, ar 3rafe & %?

(@) 3{ai¥ 35 F 1Y 3HafdH
(@) 3Maf¥ 2n & TIY 3MAfH
@M 3MafY 12 & 1Y Aaidb

@ TR 3afid
Options :

1.9 A

2. * B

3.% C

4. % D

Question Number : 40 Question Id : 26723611100 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



: What is the energy of the signal x(f) = &' u(—t)
(A) 1J
(B) e
(C) 0.25]

(D) Depends on the value of t
Options :

1.¥ A

2. ¥ B

3. % C

4. % D

Question Number : 40 Question Id : 26723611100 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Ryoa &1 Sl Fa1 8 x(t) = € u(—t)

@) 1)
@

@M 0.25)

@ tdII R AR A g
Options :

1.¥ A

2. % B



3.% C

4. % D

Question Number : 41 Question Id : 26723611101 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

M x(n)=2"[u(n+1)—u(n—4)], then what is the value of y(n)=x(n-3) forn=4?

A) 1
(B) 2
C) 4

(D) 8
Options :
1.4 A
2. % B
3.% C

4. ®* D

Question Number : 41 Question Id : 26723611101 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



I x(n)=2"[u(n+1)-u(n-4)], din=4%fdU y(n)=x(n-3) bl HIT H
87

(P) 1
(W) 2
M 4

d) 8

Options :
1.¥A
2. % B
3. % C

4. % D

Question Number : 42 Question Id : 26723611102 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



. If a discrete time system has an impulse response
1 I
h(n) = = o(n+1)+ad(n)+ ;a(n —1) then the frequency response of the system will

be

(A) e l+cosQ)

(B)  [l4+cosQ}]
(C) [l+sinQ]

(D) [cosQ+sin}]
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 42 Question Id : 26723611102 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



afe 3gad gug yumet § 3maw ufafpan gidt 8
h{n}=%5(ﬂ+1}+a{n]+%5(n—l},?ﬁﬁlﬂaﬁWﬁ[qﬁfma"ﬂ

(m .

e [1+cos Q)]
() [1+cos 2]
() [1+sin€Q]

() [cosQ+sinQ]
Options :

1.¥v A

2. % B

3.% C

4. % D

Question Number : 43 Question Id : 26723611103 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



. Frequency response of system whose impulse response is given by (t) = e“u(—t) is,

A 1
a-jo

(B) 1
a+ jo

(C) platjo)

(D) pla-je)
Options :
1.¥ A

2. # B

3.% C

4. % D

Question Number : 43 Question Id : 26723611103 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Ry &t srgfy ufaftrar g smaw ufafear g fear Sar @
h(t)=e“u(-t),

(P) 1

o— jo

(M) 1

a+ jw

{TT} e{ o fein)

{'ﬂ'} E.'{ o — fee)

Options :
1.¥ A
2. % B
3.% C

4. % D
Question Number : 44 Question Id : 26723611104 Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
. Which of the following statements is true?
(A)  yl(t) =tx(4t + 1) is time invariant
(B)  h{n)=(-0.5)" u(n) +(1.01)" u(1-n) is unstable

(C)  h{(n)=n (1/3)"u(n-1) is non-causal

(D) y(n)= Z(0.5)"* x(k) has a stable inverse
Options :



1.9 A

3.%C

4. % D

Question Number : 44 Question Id : 26723611104 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

fafifed & € &F W Hy 94 77
@) v () = tx A4t + 1) THT ARG 8
@) h(n)=(-05"u(n)+(1.01) "u(1-n) ARR §
@  h®) =n(1/3)"u(n-1) IO §

@ y®)= (0.5)"x (k) HuH RR ufadH 8
Options :

1.¥A

2. % B

3. % C

4. %D

Question Number : 45 Question Id : 26723611105 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



. Asequencex(n)j=o(n+4)+06(n+2)-206(n+1)+206(n)=36(n—4)isapplied to an
LTI system with impulse response h(n) =2 & (n—3). The outputatn=11is

(A) 0

(D) 2
Options :
1.¥ A
2. % B
3. % C

4. % D

Question Number : 45 Question Id : 26723611105 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
U HJPHIRI(UA) =8 (n+4)+(n+2)-28(n+1)+25TT)-35(n
- 4) 3147 & 1Y U LTI YOIt bl AN fbd1 Sirell Widfehdl h (n) = 2 6 (n -

3)In=1R A

(P) 0

(@) 1

M -4

® 2

Options :
1.4 A



3.%C

4. % D

Question Number : 46 Question Id : 26723611106 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

PUSHH
RET
These two instructions of 8085 is equivalent to a single instruction.

(A) SPHL

(B) XTHL

(C) PCHL

(D) POP PSW.
Options :

1.¥ A

2. # B

3.% C

4. % D

Question Number : 46 Question Id : 26723611106 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



PUSH H
RET

8085 & U Gl ISV U Bl eV &b SRR B |

@) SPHL
(@) XTHL
@M PCHL

({) POP PSW,
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 47 Question Id : 26723611107 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

In maximum mode of operation of 8086 pp the control signals for IO and memory
are generated by

(A) The microprocessor itself
(B) The coprocessor
(C) The external Bus controller

(D) None of the above
Options :
1.¥A



3.%C

4. % D

Question Number : 47 Question Id : 26723611107 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

8086 pp & SHHAH TS & MIRIH & 078 Havall & g 10 3R FAR

& ERI IUA Pid &

(@) HEhIUEE &l

@) g YRR
(M) TR G dheler

@ FHADE T
Options :

1. A

2.%B

3. % C

4. % D

Question Number : 48 Question Id : 26723611108 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Which of the following statement is correct

(A) Cache memory can be static RAM
(B) Dynamic RAMs occupy more space per word storage
(C) The full form of SDRAM is static-dynamic RAM

(D) BIOSina PCis not a Random Access Memory (RAM)
Options :

1. A

2. % B

3.% C

4. % D

Question Number : 48 Question Id : 26723611108 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

FafiRed 09 &9 91 Hy= I8l 8
@) g HORI Rfew RAM B Ul §

@) STeAft® RAMS Ufd et TRl 3P ST8 ol ¢
@ SDRAM &1 QX1 ATH ¥few - SRZAMHE RAM B

(@) TP PC H BIOS TSP Trefesd ST AHR (RAM) 81 B

Options :
1.¥ A
2. % B
3. % C

4. % D



Question Number : 49 Question Id : 26723611109 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Determine the states of the NMQOS transistors, given the gate voltages shown
below in Fig below:

(A) off off on

(B) onoffR

(C) offonR

(D) Roffon
Options:
1.9 A

2. % B

3.% C

4. % D

Question Number : 49 Question Id : 26723611109 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



A1d feu T fomr # At feamy e e died i dad gU, NMOS SiforeR @l
feufa feffed &

@) 3 3P 3R
() 3% 3 IR

(G 3R 3B 3
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 50 Question Id : 26723611110 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The circuit in Fig.2 below represents

W,
\LI W,
Wo 0
o
N T :
B:"‘_ 1
Fig. 2

(A) 3input OR gate

(B) 3 input XOR gate

(C) 3input XNOR gate

(D) 3 input NAND gate
Options :

1.¥A

2. % B

3.% C

4. % D

Question Number : 50 Question Id : 26723611110 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



42 form 2 A fear man afde gufar g

W
W,
W 0
0
) r
1
D>
Fig. 2

(@) 33T9¢ ORTIC
(@) 33Y¢ XOR Tl
(M) 3399 XNOR 7T

(d) 3399¢ NAND 7T

Options :
1.¥ A
2. % B
3.% C

4. # D

Question Number : 51 Question Id : 26723611111 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The circuit shown in Fig.3 is a

X Yo Y

Fig. 3

(A) Sequential circuit

(B) Combinational circuit

(C) Analog circuit

(D) None of the above
Options :

1. A

2. % B

3.% C

4. # D

Question Number : 51 Question Id : 26723611111 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Fig.3 o fewmar w1 afde te § -
X Do_

Y

Fig. 3

(@) SFIHHD Ffdc
(@) T Hide
@) TATEnN gfde

@) Y P ot T8

Options:
1.¥ A
2. % B
3.% C

4. % D

Question Number : 52 Question Id : 26723611112 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
A binary n digit number with all the bits 1 has:

(A) n*1
(B) 2"
{C] 2n-1_1

(D) 21



Options :
1.4 A
2.% B
3.% C

4. % D

Question Number : 52 Question Id : 26723611112 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

g} feeg 1 & 91y U S8 n 3 GBAT B :
@) n’-1
@ 2"
@ 2n-1

() n?-1

Options :
1.4 A
2.% B
3.% C

4. % D

Question Number : 53 Question Id : 26723611113 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is true for a Silicon Diode
(A) The voltage across the diode is an exponential function of its current
(B) The reverse saturation current decreases with the temperature
(C) The reverse breakdown voltage increases with the temperature

(D) The the static IV characteristic of the forward biased diode shifts to right with the
increase in the temperature

Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 53 Question Id : 26723611113 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Rifcrepi e & forg FRafeiad & ¥ ®F |1 HuH U8l &
(@) SIS & UR dleeo U YR BI T Uiy B 3

@) AUEE & 9y ey Tt 4R 9e odt 6

@ A & 1Y el 9 era diees 98T ¢

() BRIS a1a%e Srrs RIve & fRR |-V Iaex & forg o &t aromm A 87

& Y
Options :

1.¥A



2. % B
3.% C

4. % D

Question Number : 54 Question Id : 26723611114 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

100
The input-output transfer function of a plantis H(s5) =——.

.T(.'i‘+|[])

The plant is placed in a unity negative feedback configuration as shown in the figure
below.

100
Yl H(s) = ; L
s(s+10])

plant

The gain margin of the system under closed loop unity negative feedback is

(A) 0dB

(B) 20dB

(C) 46dB

(D) 26dB
Options:
1.¥A
2. % B
3.% C

4. % D

Question Number : 54 Question Id : 26723611114 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



g . 100
U A BT FTYC-HMSTYE TR e H(s) = 10 gl
S8+

wWie &1 T AT AT BIgad BIp R H 361 T 8, o b i
few o femr © fezaman m B

H(s) = 100 . Yh
s(s+10)

plant

A U gfel fed Biedd & Sfeid Jumed! &1 74 T &
@) 0db
@ 20db
(M 46db

() 26db
Options :
1.¥ A

2. % B
3.% C

4. % D

Question Number : 55 Question Id : 26723611115 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Which of the power amplifier has the maximum efficiency?

(A) Class-A

(B) Class-B

(C) Class-C

(D) Class-D
Options :
1.¥A

2. % B

3.% C

4. # D

Question Number : 55 Question Id : 26723611115 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

TR TCHrR § § frgat sifiiedn g 87
() oI -U
@) T it
@M & -l

(€) oI -8l
Options :
1.¥ A

2. % B

3.% C

4. % D



Question Number : 56 Question Id : 26723611116 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is best suited for output stage of a voltage amplifier?

(A) Common-Base amplifier
(B) Common-Emitter amplifier
(C) Common-Collector amplifier

(D) Current mirror
Options :

1.¥ A

2.%B

3.% C

4. % D

Question Number : 56 Question Id : 26723611116 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
faferfad & A B 91 T diecs TRRIBRR & 33eye ©f & ot Faffis
S 22

@) 3-89 THIBIR

(®) MH-THCR TElBRR

M) 3MH-BHeidey THhaR

(9) GHH U

Options :



1.9 A

3.%C

4. % D

Question Number : 57 Question Id : 26723611117 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

The transfer function of a system evaluated along the jw axis takes the form H{jw) =
y)

()
g

=
)2, jo
(Wn) T Qwy +1

The system is a

(A) low pass filter

(B) high pass filter

(C) band pass filter

(D) band reject filter
Options:

1. A

2. % B

3.% C

4. %# D

Question Number : 57 Question Id : 26723611117 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



jw 38 & 1Y YeTichH I Tg HUel! BT CHHR BRI H(jw BT &Y ddl 8

2
(1)
=)

.\ 2 .
jo\" 4 o
((l)[}) + Q(!)() + l

e U &

@) o U fheey
@) BT U fheey
M o8 U fthee?

@ oS Reide ey
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 58 Question Id : 26723611118 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is responsible for Avalanche breakdown of a reverse biased p-n

junction
(A) High electric field of about 10 MV/cm
(B) Impact lonization
(C) Heavily doped p-n junction

(D) Negative temperature coefficient of the p-n junction
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 58 Question Id : 26723611118 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

fFoffad ¥ 3 oF ue Rad arRe p-n SaF & 3@aed & o fowieR 8
@) T 10 THAT / 99 1 S fagga &
(@) 3UTE SISO

() SHAUD SIE p-n S

©) p-n SR BT TRRIHD dTTHH {j,Ulifh
Options :
1.¥A

2. % B



3.% C

4. %D

Question Number : 59 Question Id : 26723611119 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
For a n-p-n transistor, which of the following is incorrect w.r.t. h-parameters?

(A) hfeis dimension-less

(B) hre is typically small and can be neglected to simplify the model

(C) hie << hoe

(D) h-parameters represent the two-port model for small signal
Options:

1.9 A

2. % B

3.%C

4. %# D

Question Number : 59 Question Id : 26723611119 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 60 Question Id : 26723611120 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

A student is asked to design a uA741 based simple inverting amplifier having a gain “-
5" and to test the design by conducting an experiment in the lab. But while rigging up
the circuit, he unknowingly interchanges inverting and non-inverting terminals of the
opamp. What can he expect from the circuit?

(A) Inverting amplifier of gain “-5"

(B) Non-inverting amplifier of gain “+5”

"

(C) Non-inverting amplifier of gain “+6

(D) None of these
Options :

1.¥ A



2. % B
3.% C

4. % D

Question Number : 60 Question Id : 26723611120 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A
2. % B
3.% C

4. % D
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